< 9 X > (um) for PV

Ratio

<93y > (um) for PV

Ratio

<3z > (um) for PV

Ratio

-20

30 40 50 60
Simulatgd_interactions

<ox> (um)

o

|
=
o
I

|
N
o
T T IO

30 40 50 60
Simulated interactions

=

150 200 250
Simulated interactions

100

)

(Pimmin

0.5

30 40 50 60
Simulated interactions

50

40|

30|

20|

10

T3¢

i

0.5]

T

30 40 50 60
Simulated interactions

20

<oy > (um)

Ratio

<oz > (um)

Ratio

30 40 50 60
Simulated interactions

30 40 50 60
Simulated interactions

(um)

o
o
o3}

ed vertices

or mer

=0.

o
o

© o
o o
5 &

0.

02F

(@]
TTTRTTT

50 200 250
Simulated interactions

100

150 200 250
Simulated interactions

100



	Contents
	Page 1


